54. Which work should be the motto of our

citizens?
(a) Resourceful
(b) Incessant
(c) Productive
(d) Ingenious

55. Nothing else can give us joy except?
(a) Service
(b) Idleness
() wealth
(d) freedom

56. Given,B=8,L=7,0 =5, C =9 and K =4.
Using the given total, find out the-miissi
symbol (?)
L?KKK=24
(a)

(d)

that follows.

There are seven boo@r,
Psychology, Hindi, English, Socio
Education and Accountaney lying on a table
one above the others. Sociology is on the top
of all books. Accountancy is immediately below
Education which is immediate below Sociology.
Economics is immediately above Psychology but
not in the middle. Hindi is immediately below

Psychology.

58. Economics is between which of the following
books ?
(@) Accountancy and Education
(b) Psychology and Hindi
() English and Psychology
(d) Psychology and Sociology

59. Which three books are between Accountancy

60.

64.

and Hindi ?

(a) English, Economics and Psychology
(b) Economics, Psychology and Education
(c) Economics, Psychology and Hindi

(d) Cannot be determined

If Sociology and English, Accountancy and
Hindi and Education and Psychology inter

change their position, which book will be

between Psychology and Sociology?

Accountancy

(d) Pitcher — Water

Choose the word which is least like the other
words in the group.

(a) Chameleon

(b) Crocodile

(c) Snake

(d) Locust

Choose the number which is different from

others in the group

(@) 72-12
(b) 48 -24
(c) 120-74
(d) 96-84
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